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X DX &R TAHE
el TAPT XY CERED
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
SA LS 12,167,559 10,438,593 1,728,966
= 1,800,000
& 806,000
< 656,000
Al 8,905,559
OlcHXI&H S AN 6,626,288 4,484,399 2,141,889
= 1,800,000
& 806,000
< 450,000
Al 3,570,288
SAEE X4 611,594 13,062 598,542
ClIXtel 23 Z2HE 3,192 3,192 0
201 Let249] 1,992 1,992 0
01 At 22/l 1,992 1,992 0
OUXeZ Z2Me £ 180
ocZIHE M 60,000& » 3A! x 13 180
OLUIXREZAAS &
70,000 = 12% = 13 840
OCIXel A2 3sl &AW
81,000 » 6% » 2 972
202 (44l 1,200 1,200 0
01 S LHOIYI 1,200 1,200 0
OLIXoI2dad TZME HAR2FZ 1,200
SANZE29 EO1H A 6,702 8,160 A 1,458
201 Let249] 3,300 3,300 0
01 At 22l 3,300 3,300 0
OB (ABANLETEAN) BH4g
70,000& = 128 = 23| 1,680
OZ2ALAS (B2ASZHEAAM) BFAX Gbl
81,000& = 10¥ = 23l 1,620
202 04l 3,402 4,860 A 1,458
01 = LH 4 Hi 3,402 4,860 A 1,458
OZANZZ ALEX
81,0003 = 29 = 3¢ « 73l 3,402
Al ZBH B2(3R)x4 2el 601,700 1,700 600,000
201 2et24d] 1,700 1,700 0
02 2324l 1,700 1,700 0
OANZH Z22(32) AIE A& |l 1,700
oM ¥ S+ Fa 350,000& * 23 700
oS0 =24 UM 7
40,000& = 5J4 * 53] 1,000
401 Al BIZ 201 8] 600,000 0 600,000
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el SAIE2 =4 (&)
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 596,243 0 596,243
OAl ZHZ2(MSITH)Z 2 HUIALSY 596,243
03 Al 2 THHI 3,757 0 3,757
Ol FHZ2(M )22 FHIAIY 20l
596,243,0002 * 0.63/100 3,757
SAAHE FHl 21,246 23,696 22,450
SAZeHE 2 21,246 23,696 A 2,450
201 Let24E] 16,246 16,696 A 450
01 At 22l 16,246 16,696 A 450
OZAMAEANEZE 23102
2,200,000& * 204Xl * 23 8,800
OSANSARE BasT
70,000& = 159 = 33 3,150
OZ AN AR Kl
81,000& = 4% « 43] 1,296
OSANHEANL HAHY 3442
500,000& » 3M = 23] 3,000
202 (44l 5,000 7,000 A 2,000
01 SLHOYI 5,000 7,000 A 2,000
OZAAH & 22 2= 5,000
SASE el 658,090 693, 169 A 35,079
& 300,000
< 90,000
Al 268,090
gAHzR el 30,873 13,400 17,473
101 @124l 17,473 0 17,473
04 JI12ZtHZ22HEE = 17,473 0 17,473
OZ&&c 224 E= 17,473
=Jlza 44,6402 * 198 * 290 12,946
oFFH 44 6403 * 18 » 64 2,857
o 2FAM| 3,000& * 1989 * 290 870
ocEESIHHI 400,000& = 18 « 23| 800
201 Let249] 13,400 13,400 0
01 At 22/l 2,000 2,000 0
Ogiz 22835 ¢ 2,000
02 =224l 11,400 11,400 0
OXER HIIR=S 400,000& = 123 4,800
Oz &dot+=& 2= 300,000& = 12& 3,600
OXNAZR AZHl 200,000& = 53 1,000
OgXAHzR AlE ZHl |XH 2,000
HetatRAX 2l 21,857 21,069 788




2N

SANDSH

M D XEE SAIHE
el SAISE 2tel (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
101 124 dl 14,157 13,369 788
4 D12t Z2XREES 14,157 13,369 788
O ARIAX 224 E= 14,157
=JIE= 44,6403 * 18 = 230 10,268
oFxsad 44 6403 * 18 = 47 2,099
o ZHAIH| 3,000& = 1% = 230 690
o ZE FOHI 400,000& = 19¥ « 23| 800
oIl =l 150,000& * 1H « 23| 300
201 €2l 7,700 7,700 0
01 At 22/l 3,500 3,500 0
O RAX 2K AMAEZ 1,500
OgstitR X 2288 + 2,000
02 =224l 4,200 4,200 0
O3RN HMIIL= 100,000& * 128 1,200
OAs RN AlE S XUl 3,000
SHtEs |22 5,360 6,000 A 640
201 Let24d] 5,360 6,000 A 640
02 2324l 5,360 6,000 A 640
O&HESE MRS 130,000& * 12&8 1,560
OsHE32 &ot=E23  150,0008 * 128 1,800
Ozt sa AdEH =Xl 2,000
OB AS AN HH AL 600,000 0 600,000
= 300,000
< 90,000
Al 210,000
401 AIEHI L 20HEI 600,000 0 600,000
& 300,000
< 90,000
Al 210,000
01 A& HI 596,243 0 596,243
Stk SRAX FHIS A 596,243
& 300,000
< 90,000
Al 206,243
03 A& =2 THHI 3,757 0 3,757
Ogstet RAX HHI S A 20
596,244,000& * 0.63/100 3,757
SAZDnE 22 9,642 9,642 0
Z10= HA A& FHl 5,000 5,000 0
206 M= Hl 5,000 5,000 0
01 24l 5,000 5,000 0
O 402 20104 HHPY  250,0008 * 2074 5,000
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OZ1NE Mo sg AN
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sgHZD=2 AU 3,780 3,780 0
201 Bt 600 600 0
02 2% H| 600 600 0
ORHEE ¥52=2 50,000 = 12&€ 600
202 04d| 2,400 2,400 0
01 2L I 2,400 2,400 0
OsgEZINE NE - & d2FX 2,400
301 et A= 780 780 0
11 J|EtE A3 780 780 0
OsSgZIE =HE A 780
od 4ot 500& * 10& * 5g = 12&€ 300
o B 1002 * 50& x 52 x 128 300
o MEX] 202 * 150%& * 5g x 128 180
SAHEEZZ A 2,319,884 3,744,840 A 1,424,956
2 506,000
Al 1,813,884
IWH=2 A= e 402,880 0 402,880
401 AlEHIZL £ 0HY| 402,880 0 402,880
01 Al&H| 400,000 0 400,000
OIoUW=2 A2 HEZA 400,000
03 Al 201 Y| 2,880 0 2,880
QIUW= A2 HEZ2AF E0HY]
400,000,000& = 0.72/100 2,880
AKX Z~EHBH QI AE S22 & 2 At 100,900 302, 160 A 201,260
401 Al HI L £ 0HHI 100,900 302, 160 A 201,260
01 Al& H| 100,000 300,000 A 200,000
OHXZ~EHH QT AE2F = Z I & Z At 100,000
03 Al&E 201 Y| 900 2,160 N 1,260
OHXZ~EB QI AL 2t T2 S AF 20|
100,000,000 = 0.90/100 900
SCAJIZ22 OIRAHALS 380,900 300,900 80,000
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401 AIEHIZ 2 CHYI 380,900 300,900 80,000
01 Al £ HI 380,000 300,000 80,000
OZAIZ2 DI A 100,000
OZAMAIE CIMNAALS 200,000
O2E12 FUSAIA 50,000
OdHOtIIE~ZdEHug g2 X 30,000
03 AlE 2 THHI 900 900 0
OZAJZY SIaHAALY 20|
100,000,000& = 0.90/100 900
HHZ~KTG2E T2 IHE S A 201,440 453,240 251,800
401 AIEHIZ 2 0HHI 201,440 453,240 A251,800
01 A€ dl 200,000 450,000 A250,000
OAN™Z~KT&G2 T Z2IHE S A 200,000
03 Al 2 HHI 1,440 3,240 A 1,800
OFHZ~KT&G2 “2IHE S AH 20
200,000,000& = 0.72/100 1,440
AR &S ALY 1,012,000 2,110,000 21,098,000
& 506,000
Al 506,000
401 AIEHIZ 2 CHYI 1,012,000 2,110,000 21,098,000
& 506,000
Al 506,000
01 Al £ HI 1,008,369 2,096,707 A 1,088,338
O¥4=S HEXNS FAINX WA 1,008,369
Z 506,000
Al 502,369
03 Al€ 2 bl 3,631 13,293 A9,662
OFES HEZXNSG FAIIA HHUAY FUHI
1,008,369,000& = 0.36/100 3,631
BRUAL-LSHEA C2HEBA 100,900 200,000 £99,100
401 AlEHIH R0 8] 100,900 200,000 A99,100
01 Al&HI 100,000 198,560 98,560
OBUAE~-CalAEH2t T2IHE S A 100,000
03 AlE 2 HHI 900 1,440 A 540
O2UAE~L3HE2 T2IHES A FUH
100,000,000& = 0.90/100 900
M A~Z SN SA2E T2 23 A 120,864 0 120,864
401 AIEHIZ 2 0HHI 120,864 0 120,864
01 A€ HI 120,000 0 120,000
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03 Al 2 CHHI 864 0 864
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Al 845,832
SANMMEEE A 3,005,832 0 3,005,832
= 1,800,000
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Al 845,832
201 LBt 9H]| 200,000 0 200,000
= 120,000
Al 80,000
01 AP 22| H| 200,000 0 200,000
OEANMM T2 29 200,000
= 120,000
Al 80,000
202 044l 5,832 0 5,832
01 2L Y| 5,832 0 5,832
OEAMMSER S&0H|
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307 QI2t0| ™ 100,000 0 100,000
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Al 40,000
02 QI2tAAMAIE E =X 100,000 0 100,000
OEAMMAM FAZBDAL 100,000
= 60,000
Al 40,000
401 AlEHIZ 201 Y| 2,700,000 0 2,700,000
= 1,620,000
= 360,000
Al 720,000
01 A& H| 2,690,314 0 2,690,314
OS2l TAMM S&XSALE 2,690,314
= 1,620,000
= 360,000
Al 710,314
03 AlE 2 0HH] 9,686 0 9,686
OS2 TAMAM S=XSAE 20|
2,690,314,000& * 0.36/100 9,686
HazsweE 4 A 5,237,674 5,327,620 89,946
& 206,000
Al 5,031,674
HEWE ANES 22 66,592 51,092 15,500
HEsnsSAld WX 66,592 51,092 15,500
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201 LBt | 11,000 12,000 A 1,000
01 AP 22| H| 11,000 12,000 A 1,000
Osflles HA THOHHE L SAI2ZHE M2
25,000 = 404! 1,000
OUSRENLS(5F)FLBR S8
2,500,0008 * 43| 10,000
202 04| 3,592 3,592 0
01 2L Hl 3,592 3,592 0
OREHE 2=
81,0008 * 2% * 22 « 83| 2,592
Olizsnsds & 29X 222 1,000
301 et A= 1,000 0 1,000
11 J|EtE A= 1,000 0 1,000
OIS N=SA SLAEY et Al DT AZ 1,000
307 2Iz2to| & 5,500 0 5,500
02 QIZFAAAIE E X 5,500 0 5,500
OUzNE HeZEAN &g L S#HAXS 5,500
401 AlEHIZL £ 0HY| 45,500 20,000 25,500
01 Al&EH| 45,500 20,000 25,500
O: 28 &1 ¢ A
10,000,000& = 44! 40,000
OHA EHAl &2 H| 5,500
osdd F& L IE Al 4]
50,000& = 304! 1,500
CRMA ST Tyl L M
500,000& * 84l 4,000
Hswns MEXH 4,531,050 4,624,050 A 93,000
=} 206,000
Al 4,325,050
HH2EAME HEX 1,030,000 1,044,000 A 14,000
& 200,000
Al 830,000
207 I & d| 20,000 44,000 A 24,000
01 A& H| 20,000 44,000 A 24,000
OAMUHA MEXE A4S 20,000
307 2Iz2t0| & 1,010,000 1,000,000 10,000
o=t 200,000
Al 810,000
09 2L AHEXZ2 1,010,000 1,000,000 10,000
OAMUHA 2SAMY ME XS 800,000
= 200,000
Al 600,000
OAUWH A SOIE AIEE0l =agA 110,000
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OANUWUHA NEINE S5 =48H 40,000
OEHEEA ME X 60,000
Sl =484 30,000 30,000 0
< 6,000
Al 24,000
307 glz2tol & 30,000 30,000 0
< 6,000
Al 24,000
09 2HAHEXS 30,000 30,000 0
OgiLd A8 30,000
= 6,000
Al 24,000
2x8Hd FIEEX=2 = 3,400,000 3,400,000 0
307 glz2+ol & 3,400,000 3,400,000 0
09 2+=HAHEEXS 3,400,000 3,400,000 0
OUUHXIAHM 28 FFH 22X 3,400,000
ot A(11204) 2,260,000
o BLAI(3140H) 760,000
o3t £(158M1) 380,000
SHUNSHHH(NSAR SEA)2Y 71,050 150,050 AT79,000
201 ¢4l 1,050 1,050 0
01 At 2t 2l 1,050 1,050 0
OEHHMAl WSAX OISEHASHRRS
70,0003 = 5H « 33| 1,050
307 gl2tol & 70,000 69,000 1,000
05 BIZHRI & 3 70,000 69,000 1,000
OSE2H(nEAX ZHA)HE 22 70,000
S T2WE S#EXY 608,992 607,738 1,254
S22 &M 480,000 450,000 30,000
401 A& HIZ 201 I 480,000 450,000 30,000
01 A& HI 480,000 450,000 30,000
O Xt S A Z A 480,000
WEUTALE &5 - 2el 99,380 136,172 A 36,792
201 Let24E] 30,480 29,472 1,008
02 =224l 30,480 29,472 1,008
OuSAE HIIR=s 30,480
cnsdSI| 63,0002 = 287 = 12& 21,168
ocdES 21,000& = 27J| = 123 6,804
od&s 11,000& = 197] = 12& 2,508
401 Al HIZ 201 Y] 68,900 106,700 A 37,800
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K- B3 B2 (3A0) - HRAMY - BES 0l &t o e 2
01 A& HI 68,900 106,700 A 37,800
OusSetd H A& 23,500
o FO| HAIE 250,000& * 300H & 7,500
o 7 Ml & Xl & 200,000& * 2500 A& 5,000
= Xl Al & X & 200,000& * 300H & 6,000
o 8 X HX| T 200,000& * 2501 2 5,000
Ous4asI A0HEH WX
2,400,000 = 54l 12,000
OusdsI |RAE+ 1,000,000& » 284 A 28,000
O3es |FNE* 100,000& * 27002 * 23] 5,400
2UE ¢H & 29,612 21,566 8,046
201 Let2dE] 16,346 16,346 0
01 At 22l 4,926 4,926 0
OBXNME JIIZEEX M 200& = 3,0000H 600
O=AMNIzZHE M= 200& = 2,00000 = 23 800
OREI BAMN==2 63,000& » 204 126
OuEUTES 10,000& = 100AIE 1,000
ORI 220y FA2e
600,000& » 4= 7| 2,400
02 =224l 11,420 11,420 0
OgZMERE= 50,000& = 2CH = 23] 200
ORHEXXE 224 KA 2
35,000& = 123 420
O Xt 450,000 = 20H = 123 10,800
202 O4dl 5,220 5,220 0
01 = LH 4 Hi 5,220 5,220 0
Ounsk&s g2Fa 1,620
OSEAMNEIE 23 L MASI
60,000% = 12 « 53| » 128 3,600
307 glz2+ol & 8,046 0 8,046
02 QB HAANEEX 8,046 0 8,046
O0gol = nsSetdus & WSAHI0E
2l 2! 8,046
RASH UHEEE 31,040 44,740 A 13,700
S QAAF2Y 31,040 44,740 A 13,700
201 ¢er24l 25,760 25,460 300
01 At 2t 2l 4,460 3,560 900
OXsSXEJAMA 2l
200& = 108 = 1,000% 2,000
OXsx HIIZA ¢t SESEAM H=
200& = 2& = 1,000% 400
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OXtsx #HIEE 2o IM J&
200& * 2& * 1,0008 400
o¥ss 7Y 80& = 1,000% 80
OXsx Mg ds5dHel 822 MA 1,080
cEEEAY 60,000& = 401 = 23| 480
cZEoHUHE 40& * 15,0000H 600
OME X s IAXS M
500& = 1,0000H 500
02 3322l 21,300 21,900
OXNSA2dE WEHE DN RIS
1,000,000& * 12& 12,000
OHSEIIANAYE T2 KX 22
250,000& = 123 3,000
OREENS SHHUR 2203 A2
300,000& = 12& 3,600
OXNsXHESE LREHERN MAES BE=
100,000& » 2H 200
OXt&Es A2l 250,000& = 1CH = 10 2,500
202 oddl 5,280 5,280
01 = LH o4 1l 5,280 5,280
ONERNS=L248
60,000& = 2H * 2 * 123 2,880
OMYXE HED AL EA
10,000& = 3¥ = 80 2,400
HHR2IZH(SAIRSD) 62,797 90,574
ol 2 gl 23,829 51,606
IA2IHI (AL E D) 23,829 51,606
101 14 Hl 23,829 51,606
03 RIAHAZZ2 T2+ 23,829 51,606
OXNsUHEEFER2YE 221 E= 23,829
=Jl2g 44,6403 * 18 = 250 11,160
oca0iz3 11,160,000 * 4/12 3,720
cHIURSFII=E 44,6403 ~ 18 » 20 893
S EEEERN
8,370 * 1& * 20AI2t * 128 2,009
oFF 44 6403 * 18 = 52 2,322
o Jtat = 11,160,000& = 10/100 1,116
SPSEY Falll 21,220,000 * 4.0/100 849
o FEFIHHI 400,000 » 1% = 23] 800
o g &l 80,000& = 1& = 123 960
Jl= &3l 38,968 38,968
J2ZH(SAI RS 38,968 38,968
201 Let4d] 32,688 32,688
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01 At 22l 30,288 30,288 0
ORN2Yg JI=2& 250,000& ~ 123 3,000
OMEES 7¥ =) 200,000 * 128 2,400
O#HEANRIII ABE 2¢ 7,800
= S AICIRHE! 300,000& 2,400
o S AlH & 300,000& 1,200
o S AN 300,000& 1,200
clsd#H 300,000& 600
cuwskE 300,000& 600
oXHESE 300,000& = 3CH 1,800
Oda=Jl gz 50,000& = 3CH = 123 1,800
o=l 7,0008 * 269 » 7L 15,288
02 2324l 2,400 2,400 0
ORER= 200,000& 2,400
202 04l 2,080 2,080 0
01 = LH 4 Hi 2,080 2,080 0
OHl&4Z2 2ot 2,080
203 YR =&t 4,200 4,200 0
04 FN2EHRF 4,200 4,200 0
ORN2IELR 350,000& = 123 4,200
NEES(TARED) 240,800 536,000 295,200
WEHHX S 240,800 536,000 A 295,200
HEHeH X = 240,800 536,000 A 295,200
701 JIEtEI HEE = 240,800 536,000 A 295,200
01 JIEtSI HE &= 240,800 536,000 A 295,200
OUMXEL4EE = 150,000
OFXEEES
908,000,000 = 10/100 90,800




